
6-22 MGE 13.2 | Feet and wheels 

Bosch Rexroth AG, 3 842 540 392 (2017-08)

00117844

D80
B = 37

60

80

100

9

8512
0

ø40

130

180

11
8

20

140

190

F F

55

Lifting wheel F (N) No.

2300 3 842 547 890
Material: Wheel: PA6, natural white

Housing: steel; galvanized
Base plate: rubber; gray 

Screw-on plate No.

4 3 842 553 967
Material: Die-cast aluminum

00117847

ø24,4M8
ø20,8

21

20
42,5

60
65
77,5
80
92,5

125
160

180

ø13,5
ø13,5 158,

2

87
,5

87,5

20
42

,5

12
,5

6065
77

,5
80

12
5

18
0 16

0 92
,5

21

8,
7

12,5

10

40

10 10

45

10

20975

10

ff Steerable lifting wheel
ff The wheel turns into a stable base simply by engaging 

the stop lever
ff Screw-on plate for mounting the lifting wheel
ff With “Ideal-Stop”: locking lever does not swivel with the 

steerable caster but remains in the defined position. The 
locking lever is fixed in position on the frame by means 
of the screw-on plate, and the caster wheel moves freely

Required accessories:
ff screw M8x35 (ISO 4762), washer 8 (DIN EN ISO 7089), 

locking washer 8 FSt for attaching to the screw-on plate
ff T-bolt M8x30 (p. 3-6), flange nut M8 (p. 3-6), central 

bolt M12 or S12 (p. 3-40) for fastening the screw-on 
plate to the profile frame

Lifting wheel




